Refresher Course Math 1050 and 1060 Practice Problems Set 4 Fall 2007

1.) Sketch the graph of each of the following:
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2.) Let f(x)=2x+1 and g(x)=x*+2x—1. Find (f — g)(x). Then evaluate the
difference when x=2.

@m‘l)‘ (XLF&X*I) = X4 2

§ -9 = -2 =[Z]

3.) Let f(x)=x and g(x):\/;.Findthedomainof f+eg.
WomCum o+ jc(x) s a” rece/ Numbers
Domarn o £ g (x) s x =2 0,
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4) Let f(x)= 27 and g(x)=x-5. Find fog and its domain.

2 2 7 :
(57 = xwm M D x#FL

5-3x
5

X:————7>§Z ZX—“—S-?y 5}/: —{X

5.) Find the inverse of f(x)=
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